FOTH] EIRTEREAR—YRE 7T—F=U—FiE
HEF  SfneE6A16H (A)
=5 HEEEI AR T —F = —

<18mZ7 7R >
[NFAEBT]
=LAl IO ES EFA Gl 18mét 18mzt o8 |10
1 3-A mE R EIRHIN BN 238 197 435 6
<30m7T R >
(PZEEETF]
HERL | W& EPRL Gl 30m#Et 30mzt TE 10 X
[ 5-A PN BHEPER 321 322 643 191 9
2 | 4-A | BB FHE | SIRMTIERPEE 317 294 611 141 3
3 6-A # HaEh AR I R TR 283 297 580 171 5
4 7-B [ 301 300 601 14| 3
5 | 4-B HH A 210 219 429 1|0
6 6-B AR E=HE 195 207 402 410
7 5-B B BRK 188 207 395 410
8 8-A T HE 198 148 346 210
[hi AR5 1 ]
Wafr | fIE R4 B 30m3t 30mit &EF 10
1 9-B B K ERBEBERE 324 302 626 23
2 9-A o FHEH &SIRMT7T—F=—HBE 268 281 549 9
3 | 10-A W B 290 301 591 16
4 | 10-B | RN FHH] 297 293 590 13




